i Two Union Seats

Scenarios - Current Weighted Voting Scenano A

{Current} Scenaro B Scerano C Scenario D
Number of Smaller Muricipahtias i1 12 13 14
City 5 5 8 7
County 8 & 8 H
Tatal City & County 10 12 12 14
Total Weighted 21 24 25 28
2f3rds 14 16 17 18
Warighted City and County votes 10 12 12 14
Srnaller municipalilities
votes needed to prevai 4 4 5 5
Scenarios - Proposed Weighted Voting
Number of Smaller Municipalities 11 12 13 14
City 5 5 & 6
County 5 5 L+ 6
Union 2 2 2 2
Total City, County, Union 12 12 14 14
Total Weighted 23 24 27 28
2/30ds needed for passage 15. 16 18 19
Weighted City and County voles 10 10 12 12
Tota! municipal and union votes beyond City
and County needed o prevail 5 & 5 7
Urion vote 2 2 2 2
Smaller municipafilities beyond
City. County, and union needed to prevail 3 4 4 5

Current Weighted Voting Process:
1) City + County votes = Town Votes
2} If odd number of municipalities, round city and counly votes down
3} 2/3rds vote required to prevail

Praposed Weighted VYoting Process
1} Total City + County votes = Town Votes - 2
2} If even number of smaller municipaiities, round city and county vaotes down
3} 2/3rds of vote required to pravai




